

Office of the Executive Engineer (JSD)P.H.E Division Awantipora

E-Mail ID phedivisionawantiporacegmail com

Name: M/S Ahmad Construction

Prop.: Farooz Ahmad Bhat Sharief Ahmad Bhat R/O: Sumerbagh Lasjan

No.PHA/ 3693-90 Dated: 10-09-22-

Reg. No.: 0012/AAY/Civil/Sanitary/CEE/CID/PDC/2018-19 GST No.01ATNPB1395H3ZW

PAN No.: ATNPB1395H3

Subject:-Allotment for construction of WSS Bonibagh Lelhar by way of laying / fitting , retaining wall, chainlink fencing, transformer bed, sluice chamber, and surface drain under JJM

- 1. Your tender in response to this office E-NIT No. 02/PHA of 2022-23 (e- tendering) issued under endorsement No.PHA/Awp/180-91 dated:- 16-4-2022 Tender ID :2022_PHE_166871__3
- 2.Minutes of Meeting DIJM Pulwama held on 14/6/2022
- 3. Chief Engineer Kmr, PHE Deptt, Srinagar's No.CE/PHE/MC/DB/1345-83 dated:- 26-07-2022
- 4.Technical sanction No. CE/PHE/DB/511 of 9/2022 dated:- 09.09.2022

For on behalf of lieutenant Governor of Union Territory of Jammu & Kashmir, contract for above mentioned work is hereby fixed with you at the following quoted rates, terms conditions .

Advertised Cost:-Rs 68.95 lacs

Allotted Cost:- Rs 63.36lacs

| 0. | Particulars of items Earth work in excavation by manual means in trenches for the | Unit | Qty | Allotted Rate | s and thirty six thousand) only | |
|----|--|------|---------|------------------|---------------------------------|--|
| 1 | | | | | in figures | in Words |
| | cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed: All kinds of soil (1 meter from cutting edge) | cum | 832.605 | 400.6404 | 333575.200 | Rupees Three Lakh ThirtyThree Thousand Five Hundred SeventyFive Paise Twenty Only |
| | Earth work in bulk excavation by manual | cum | 44.3 | 405 5007 | 210 | |
| | means over areas (exceeding 30 cm and upto 5 mtr in depth, 1.5 m in width as well as 10 m2 on plan) including disposal of excavated earth lead upto 50 meters and lift upto 1.5 m, as directed by Engineer-in-Charge. All kinds of soil. | | | 495.60871 | 21955.4660 345077.343 | Rupees TwentyOne Thousand Nine Hundred FiftyFive Paise FourtySeven Only |
| | th work in excavation by mechanical means | cum | 1489.91 | 231.60874 | | |
| 1 | (hydraulic excavator) in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed, within a lead of 50 metres. All kinds of soil | | ~ C | m | 243U11343 | Rupees Three Lakh FourtyFive Thousand SeventySeven Paise ThirtyFour Only |

Recipe du Mico

Amour

Subject:-Allotment for construction of WSS Bonibagh Lelhar by way of laying / fitting , retaining wall, chainlink fencing , transformer bed , sluice chamber, and surface drain under JJM

| 4 | Backfilling of excavated earth incl. leveling, dressing all complete. | cum | 1746.745 | 182.58543 | 318930.1869 | Rupees Three Lakh Eighteen Thousand Nine Hundred Thirty Paise Nineteen Only |
|----|---|-------|----------|-----------|-------------|--|
| 5 | Earth filling incld. All excavation, digging by JCB, carriage, loading, unloading, spreading, watering, ramming all complete. | cum | 549.42 | 755.34498 | 415001.639 | Rupees four lacs fifteen thousand one and paisa sixty three Only |
| 6 | Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:4:8 (1 cement: 4 coarse sand: 8 graded stone aggregate 40mm nominal size). | cum | 61.01 | 4467.5401 | 272564.6265 | Rupces Two Lakh SeventyTwo Thousand Five Hundred SixtyFour Paise SixtyThree Only |
| 7 | Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:3:6 (1 cement : 3 coarse sand : 6 graded stone aggregate 20 mm nominal size) | cum | 204.3 | 4961.1594 | 1013564.881 | Rupees Ten Lakh Thirteen Thousand Five Hundred SixtyFour Paise EightyEight Only |
| 8 | Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) | cum | 60.7 | 6412.7044 | 389251.1606 | Rupees Three Lakh EightyNine Thousand Two Hundred FiftyOne Paise Sixteen Only |
| 9 | Providing and laying in position cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size) | cum | 20.19 | 5940.8676 | 119946.1186 | Rupees One Lakh Nineteen Thousand Nine Hundred FourtySix Paise Twelve Only |
| 10 | Providing and laying in position specified grade of reinforced cement concrete including curing but excluding the cost of centering, shuttering, finishing and reinforcement. Columns, beams ,slabs.1:1.5:3 (1 cement : 1.5 coarse sand : 3 graded stone aggregate 20 mm nominal size) | cum | 0.86 | 9050.5631 | 7783 484284 | Rupees Seven Thousand Seven Hundred EightyThree Paise FourtyEight Only |
| 11 | Providing of push on joints 100/80 mm dia DI - K7 | No. | 670 | 82.42533 | 55224,9711 | Rupees FiftyFive Thousand Two Hundred TwentyFour Paise NinetySeven Only |
| 12 | Laying in position 100 mm dia DI - K7 | Qtl. | 525.95 | 225.63589 | 118673.199 | Rupees One Lakh Eighteen Thousand Six Hundred SeventyThree Paise Twenty Only |
| 13 | Providing & fixing of MS Flanges to GI pipe including cutting of threaded portion, welding, cost of nuts, bolts and washers with testing after completion of work including all carriages complete for: 80 mm dia | joint | 6 | 918.9 | 5513.4 | Rupees Five Thousand Five Hundred Thirteen Paise Fourty Only |

Open w



Subject:-Allotment for construction of WSS Bonibagh Lelhar by way of laying / fitting , retaining wall, chainlink fencing , transformer bed , sluice chamber, and surface drain under DM

| 14 | 100 mm | Joint | 5 | 1107.68 | 5513.4 | Rupees Five Thousand Five Hundred Thirteen Paise Fourty Only |
|---------------------|---|-------|-------|-----------|-------------|---|
| 15 | Making connection of G.1. distribution branch with G.1. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete 25 to 40 mm nominal bore | each | 6 | 612.26307 | 1673 57842 | Rupees Three Thousand Six Hundred Seventy Three Patse FiftyEight Only |
| 16 | 50 to 80 mm nominal bore | each | 20 | 1165,8543 | 23317-0875 | Rupees TwentyThree Thousand Three Hundred Seventeen Pulse Nine Only |
| 17 | 100 mm dia sluice valve | No. | A | 11026.8 | 14107.2 | Rupees FourtyFour Thousand One Hundred Seven Paise Twenty Only |
| 18 | 80 mm dia | No. | 1 | 9189 | 36756 | Rupees ThirtySix Thousand Seven Hundred FiftySix Only |
| 19 | Providing and laying of stone soling (dully hand packed) on horizontal level. | cum | 97.20 | 566,40996 | 55055.048 | Rupees fifty five thousand fifty five and Paise four Only |
| 20 | Providing and laying in position specified grade of reinforced cement concrete in walls including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:19:3 (1 cement : 1% coarse sand : 3 graded stone aggregate 20 mm nominal size) | cum | 16 | 8645.1352 | 138322-164 | Rupees One Lakh ThirtyHight Thousand Three Hundred TwentyTwo Paise Sixteen Only |
| 21 | Providing and laying in position specified grade of reinforced cement concrete in foundations including curing but excluding the cost of centering, shuttering, finishing and reinforcement. All works upto plinth level: 1:1½:3 (1 cement: 1½ coarse sand: 3 graded stone aggregate 20 mm nominal size) | cum | 6.03 | 7168.1183 | 43223.75373 | Rupees FourtyThree Thousand Two Hundred TwentyThree Paise SeventyFive Only |
| 22 | Providing and laying in position cement concrete of specified grade including curing but excluding the cost of centring and shuttering. All work upto plinth level with: 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 40mm nominal size). | cum | 8.9 | 6412,7044 | 57073.06967 | Rupees FiftySeven Thousand SeventyThree Paise Seven Only |
| 23 | Reinforced cement concrete work in beams, suspended floors, roofs having slope upto 15°, landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases upto five level including curing but excluding the cost of centring, shuttering, finishing and reinforcement with 1:1½:3 (1 cement: 1½ coarse sand: 3 | cum | 0.56 | 9050.1082 | 5068.060628 | Rupees Five Thousand SixtyEight Paise Six Only |
| T atterfall and the | graded stone aggregate 20 mm nominal size). | | A | | | - 11VM |

orlen w

Subject:-Allotment for construction of WSS Bonibagh Lelhar by way of laying / fitting , retaining wall, chainlink fencing , transformer bed , sluice chamber, and surface drain under JJM

| 24 | Painting with synthetic enamel paint of approved brand and manufacture to give an even shade. Two or more coats on new work | sqm | 373.25 | 112.05985 | | Rupees Fourty/One Thousand Eight Hundred TwentySix Paise ThirtyFour Only |
|----|--|-----|--------|-----------|--------------|--|
| 25 | Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level: Thermo-Mechanically Treated bars of grade Fe-500D or more. | kg | 2661.8 | 80.105107 | 213223 7781 | Rupees I wo Lakh Thirteen Thousand I wo Hundred I wenty Three Paise Seventy Fight Only |
| 26 | Centering, shuttering including strutting, propping etc and removal of form for: Foundation, footings, bases of columns etc. for mass concrete. | sqm | 486.31 | 241.02747 | 117214.0689 | Rupees One Lakh Seventeen Thousand I wo Hundred Fourteen Paise Seven Only |
| 27 | Walls (any thickness) including attached pilasters, buttresses, plinth and string courses etc. | sqm | 602.05 | 527.31076 | 317467 4461 | Rupees Three Lakh Seventeen Thousand Four Hundred SixtySeven Paise FourtyFive Only |
| 28 | Columns, pillars, piers, abutments, posts and struts. | sqm | 17.64 | 624.98983 | 11024 82069 | Rupees Eleven Thousand TwentyFour Paise EightyTwo Only |
| 29 | Suspended floors, roofs, landings, balconies, and access platform. | sqm | 37.37 | 584.05284 | 21826 05463 | Rupees TwentyOne Thousand Eight Hundred TwentySix Paise Five Only |
| 30 | Edges of slabs and breaks in floors and walls. Under 20cms wide | Mtr | 37.92 | 222.64947 | 8442 867902 | Rupees Eight Thousand Four Hundred FourtyTwo Paise EightySeven |
| 31 | Brick work with common burnt clay (non-modular) bricks of class designation 7.5 in foundation and plinth including curing in: Cement mortar 1:6 (1 cement : 6 coarse sand) | cum | 4.24 | 5681.8803 | 24091 17254 | Only Rupees TwentyFour Thousand NinetyOne Paise Seventeen Only |
| 32 | Providing and fixing G.I. chain link fabric fencing of required width in mesh size 50x50 mm including strengthening with 2 mm dia wire or nuts, bolts and washers as required complete as per the direction of Engineerincharge. 16.25.1 Made of G.I. wire of dia 4 mm | sqm | 497.67 | 674.01315 | 335436.1244 | Rupees Three Lakh ThirtyFive Thousand Four Hundred ThirtySix Paise Twelve Only |
| 33 | Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works. | kg | 1123.8 | 93.85185 | 1 105470.710 | Rupees One Lakh Five Thousand Four Hundred Seventy Paise SeventyOne Only |
| 34 | Structural steel work in single section, fixed with or without connecting plate, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete. | kg | 3156 | 83.6428 | 72 263976.90 | Rupees Two Lakh Sixty Three Thousand Nine Hundred SeventySix Paise NinetyOne Only |

Recent M

subject:-Allotment for construction of WSS Bonibagh Lelhar by way of laying / fitting , retaining wall, chainlink fencing , transformer bed , sluice chamber, and surface drain under JJM

| / | 35 | Finishing walls with water proofing cement paint of required shade on New work (two or more coats applied @ 3.84 kg/10sqm) | sqm | 90 | 84.35502 | 7591 9518 | Rupees Seven Thousand Five Hundred NinetyOne Pause NinetyFive Only |
|----|---|--|-----|---------|-----------|-------------|--|
| | 36 | 12mm Cement plaster of mix: 1:4 (1 cement: 4 fine sand) | sqm | 1127.55 | 238.95994 | 269439.286 | Rapees Two Lakh SixtyNine Thousand Four Hundred ThirtyNine Paise TwentyNine Only |
| | 37 | Providing and filling of boulders to wire crates. | cum | 49.78 | 677.64280 | 33733 05883 | Rupees ThirtyThree Thousand Seven Hundred ThirtyThree Paise Six Only |
| | 38 | Providing and fixing of wire crates. | sft | 2082 | 13.7835 | 28697.247 | Rupees Twenty Eight Thousand Six Hundred Ninety Seven Paise Twenty Five Only |
| | 39 | Providing ridges or hips of width 60cm overall width plain G.S. sheets fixed with polymer coated J. or L hooks, bolts and nuts 8mm dia G.I. limpet and bitumen washers complete. 0.63 mm thick with zinc coating not less than 275 gram/m2 | mtr | 3.25 | 635.28151 | 2064,664924 | Rupees Two Thousand Sixty Four Passe Sixty Six Only |
| | a a a c h su ar sh wi | Providing corrugated G. S. sheet roofing including vertical/curved surface fixed with polymer coated J or L hooks, bolts and nuts 8mm diameter with bitumen and G.I limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets omplete (upto any pitch in orizontal/vertical or curved urface) excluding the cost of purlins, rafters and trusses and including cutting to size and tape wherever required. 0.63 mm thick th zinc coating not less than 275 gram/m2 | sqm | 14.82 | 874.60902 | 12961.70568 | Rupees Twelve Thousand Nine Hundred SixtyOne Paise SeventyOne Only |
| 41 | or | mping out water caused by springs, tidal river seepage, broken water mains or sins and likewise. | KL | 230.4 | 142.93489 | 32932 19981 | Rupees ThirtyTwo Thousand Nine Hundred ThirtyTwo Paise Twenty Only |
| 42 | 1 | amental structural steel work welded in and stair. | kgs | 680 | 134.73830 | 91622.04876 | Rupees NinetyOne Thousand Six Hundre TwentyTwo Paise Fiv Only |
| 3 | 1 | amental wire mesh 25 x 25 mm welded up sections. | kgs | 87.8 | 134.73830 | 11830 02335 | Rupees Eleven Thousand Eight Hundred Thirty Paise Two Only |
| 4 | pipe l comp | ding and fixing of 150mm dia GI flanged for supply/delivery and washout pipes lete incl.carriage. | mtr | 49 | 1653.6983 | 81031.22087 | Rupees EightyOne Thousand ThirtyOne Paise Twenty Two Only |
| | Mecha unload | ige of different materials from different es to dumping site of work by anical Transport including loading, ding, stacking etc: nt, and Steel for an average lead of 20 | MT | 109.14 | 323.13118 | 35266.53753 | Rupees ThirtyFive Thousand Two Hundred SixtySix Paise FiftyFour Only |

The reer

ubject:-Allotment for construction of WSS Bonibagh Lelhar by way of laying / fitting , retaining wall, chainlink fencing, transformer bed, sluice chamber, and surface drain under JJM

| | Total:- | | | | Rs | 63.36 lacs |
|-----|--|-----|-------|-----------|-------------|---|
| 1 | Stone Soling | cum | 107.8 | 424.52215 | 45767.73316 | Rupees FourtyFive Thousand Seven Hundred SixtySeven Paise SeventyThree Only |
| 50 | sand/ 20mm agg | cum | 212.1 | 402.84576 | 85475.81336 | Rupees EightyFive Thousand Four Hundred SeventyFive Paise EightyOne Onl |
| 49 | Steel | mt | 21.41 | 415.96765 | 8905 867429 | Rupees Eight Thousand Nine Hundred Five Paise EightySeven Only |
| 48 | Pipe material 32 k lead | MT | 92.4 | 426,02041 | 39364 28662 | Rupees ThirtyNine Thousand Three Hundred SixtyFour Paise TwentyNine Only |
| 47 | 7 Stone Soling for an average lead of 10 km. | cum | 164.8 | 303.60456 | 50043 13962 | Rupees Fifty Thousand Fourty Three Paise Fourteen Only |
| 1 4 | Sand/Bajri for an average lead of 20 km. | cum | 667.9 | 313.87142 | 209644-144 | Rupees Two Lakh Nine Thousand Six Hundred FourtyFour Paise Fourteen Only |

Rates quantity checked

Head Draftsman

Terms Conditions:-

1. The cost of work in no case exceed beyond Rs 63.36 lacs (Rupees sixty three lacs and thirty six thousand only)

2. Bid declaration security @ 2% vide CDR No. 631116 Dated:-10-05-2022 for an amount of Rs 1,38000/- are being retained as security deposit shall be released only after successful completion of the work expiry of defective period

3. Time of completion is essence of the contract.

4. The work shall have to be started by you at site immediately and ensure its successful completion within a period of <u>04 months</u> from the date of issuance of allotment from this office strictly in accordance with the approved proposals falling which the work shall have to be got executed through any other means at your risk and cost, besides CDR deposited by you as security against this contract shall be forfeited. However date of start for laying and fitting of pipes will start within 07 days from the date of issuance of pipe material by the deptt.

5. An agreement shall have to be drawn up by you with the department within a period of 07 days from the date of issuance of allotment failure to execute such a formal deed shall not however prevent the

contract from being enforced upon you.

- The allotted works shall be subject to check by the third party monitoring agency appointed by the
- Payment shall be released as per actual / measured work done not less than 20% of the allotted cost
- 8. Performance security equivalent to 3% of the value of the contract shall have to be deposited by you in shape of CDR/FDR/bank Guarantee within one week of issuance of allotment order and valid for a period of 3 months beyond the expiry of warranty period of the contract.
- 9. The firm shall be bound for satisfactory performance of works for 18 months after the successful commissioning of the works . If during warranty period any malfunctioning / defects arise, you shall have to rectify same within a period of 10 days of receipt of intimation. In case of any failure on your part, the department may get the defects removed / repaired by any other means and cost thereof shall be recovered from you and shall be recommended for further punitive action as governed under the relevant clause of the contract including black listing.
- 10. Pre & post Geo-tagged photographic evidence be taken during the execution of the work and shall have to be produced at the time of submission of the bill.
- 11. The quantity allotted shall have to be executed on ground strictly as per the estimates that have been framed in the DPR for the item of " $\ensuremath{\text{L/F}}$, protection wall, R , wall, Breast wall, chainlink fencing , transformer bed / D.G set, sluice chamber, desludge system, surface drain, approach path and
- 12. All other terms and conditions shall be applicable as laid down in standard bid document and PWD from No. 25/33.
- 13. Any rules / terms and conditions if not stipulated in the bidding documents, shall be strictly dealt in accordance with the relevant rules / guidelines stipulated in General Financial Rules (GFR-2017) and manual for procurement of works 2019 G.O.I.

Head Draftsman

Tech. Officer

Executive Engineer

(JŞD) PHE Division Awantipora